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1
Which equation represents the set of points equidistant from line [image: image1.png]


 and point R shown on the graph below?

[image: image2.png]



	1)
	[image: image3.png]




	2)
	[image: image4.png]




	3)
	[image: image5.png]




	4)
	[image: image6.png]






2
Which equation represents a parabola with the focus at [image: image7.png]


 and the directrix of [image: image8.png]


?

	1)
	[image: image9.png]




	2)
	[image: image10.png]




	3)
	[image: image11.png]




	4)
	[image: image12.png]






3
If the focus of a parabola is [image: image13.png]


 and the directrix is [image: image14.png]


, what is an equation for the parabola?

	1)
	[image: image15.png]




	2)
	[image: image16.png]




	3)
	[image: image17.png]




	4)
	[image: image18.png]






4
Which equation represents a parabola with a focus of [image: image19.png]


 and a directrix of [image: image20.png]


?

	1)
	[image: image21.png]y=x'+3





	2)
	[image: image22.png]41





	3)
	[image: image23.png]




	4)
	[image: image24.png]






5
A parabola has its focus at [image: image25.png]


 and its directrix is [image: image26.png]


.  The equation of this parabola could be

	1)
	[image: image27.png]8(x+1)°






	2)
	[image: image28.png]Lo
gDy






	3)
	[image: image29.png](x-1)°






	4)
	[image: image30.png]T2








6
The equation of the parabola that has its focus at the point [image: image31.png]


 and directrix at [image: image32.png]


 is

	1)
	[image: image33.png]Lo,
FE






	2)
	[image: image34.png]Lo a2
3G+






	3)
	[image: image35.png]Lo,
HE






	4)
	[image: image36.png]Lo a2
3@+








7
Which equation represents the equation of the parabola with focus [image: image37.png]


 and directrix [image: image38.png]


?

	1)
	[image: image39.png]1 o
3+ -5






	2)
	[image: image40.png]Lo a2
F@=9+5






	3)
	[image: image41.png]




	4)
	[image: image42.png]






8
Which equation represents a parabola with a focus of [image: image43.png]


 and directrix of [image: image44.png]


?

	1)
	[image: image45.png]




	2)
	[image: image46.png](x-1)% =-8(y-3)





	3)
	[image: image47.png]




	4)
	[image: image48.png]






9
A parabola that has a vertex at [image: image49.png]


 and a focus of [image: image50.png]


 has an equation of

	1)
	[image: image51.png]-2t +1





	2)
	[image: image52.png]= x+D -1





	3)
	[image: image53.png]= x-D 41





	4)
	[image: image54.png]= (x-2*-3







10
Which equation represents a parabola with a focus of [image: image55.png]


 and a directrix of [image: image56.png]


?

	1)
	[image: image57.png]-7
T = 8(x+ 2)





	2)
	[image: image58.png]




	3)
	[image: image59.png](x+2)% =8(y-7)





	4)
	[image: image60.png](x+ 2% =-8(y-7)







11
What is the equation of the directrix for the parabola [image: image61.png]B(y-3) = (x+4)°



?

	1)
	[image: image62.png]




	2)
	[image: image63.png]




	3)
	[image: image64.png]




	4)
	[image: image65.png]






12
A parabola has a directrix of [image: image66.png]


 and a vertex at [image: image67.png]


.  Which ordered pair is the focus of the parabola?

	1)
	[image: image68.png]




	2)
	[image: image69.png]




	3)
	[image: image70.png]




	4)
	[image: image71.png]






13
The parabola described by the equation [image: image72.png]-2t +2



 has the directrix at [image: image73.png]


.  The focus of the parabola is

	1)
	[image: image74.png]




	2)
	[image: image75.png]




	3)
	[image: image76.png]




	4)
	[image: image77.png]






14
The directrix of the parabola [image: image78.png]12(y+3) = (x-4)°



 has the equation [image: image79.png]


.  Find the coordinates of the focus of the parabola.

15
Consider the parabola given by [image: image80.png]


 with vertex [image: image81.png]


 and focus [image: image82.png]


.  Use this information to explain how to determine the equation of the directrix.

16
The parabola [image: image83.png]


 has its focus at [image: image84.png]


.  Determine and state the equation of the directrix.  (The use of the grid below is optional.)

[image: image85.png]




17
Determine an equation for the parabola with focus [image: image86.png]


 and directrix [image: image87.png]


.  (Use of the grid below is optional.)



[image: image88.png]




1
ANS:
4

The vertex is [image: image89.png]


 and [image: image90.png]


.  [image: image91.png]76 -2 -1





REF:
081619aii

2
ANS:
2

The vertex of the parabola is [image: image92.png]


.  The distance, p, between the vertex and the focus or the vertex and the directrix is 1.  [image: image93.png]Lok
4

0?40
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REF:
081706aii

3
ANS:
2

Since the distance from the focus to the directrix is 2, [image: image94.png]


 and the vertex of the parabola is [image: image95.png]


.   [image: image96.png]



REF:
062323aii

4
ANS:
4

A parabola with a focus of [image: image97.png]


 and a directrix of [image: image98.png]


 is sketched as follows:  [image: image99.png]y
HEEEAGEEEEEEEENANEEE




By inspection, it is determined that the vertex of the parabola is [image: image100.png]


.  It is also evident that the distance, p, between the vertex and the focus is 1.  It is possible to use the formula [image: image101.png]


 to derive the equation of the parabola as follows:  [image: image102.png](x=0)" = 4= 3)

2
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or A point [image: image103.png]


 on the parabola must be the same distance from the focus as it is from the directrix.  For any such point [image: image104.png]


, the distance to the focus is [image: image105.png]


 and the distance to the directrix is [image: image106.png]


.  Setting this equal leads to:  [image: image107.png]X4y -8y+16=y" —dy+4

rl6=4y+4




REF:
spr1502aii

5
ANS:
4

The vertex is [image: image108.png]


 and [image: image109.png]


.  [image: image110.png]ﬁ(}rl)z+ﬂ





REF:
061717aii

6
ANS:
1

Distance from the focus to the directrix is 2, so [image: image111.png]


.  Vertex is [image: image112.png]


.  [image: image113.png]ﬁ(mz)’u





REF:
012409aii

7
ANS:
3

The vertex is [image: image114.png]


 and [image: image115.png]


.  [image: image116.png]



REF:
011914aii

8
ANS:
4

The distance between the focus and directrix is [image: image117.png]


.  p is half this distance, or 2.  The vertex of the parabola is [image: image118.png]


.  Since the directrix is above the focus, the parabola faces downward.  [image: image119.png]1 2
Rk

)(7. 4 -1

y+1~—(x 4y




REF:
012322aii

9
ANS:
3

The distance from the vertex to the focus, p, is 4.  Since the focus is below the vertex, p is negative.  [image: image120.png]7ﬁ (-2 41





REF:
082212aii

10
ANS:
4

[image: image121.png]


, vertex: [image: image122.png]


; [image: image123.png]


, [image: image124.png]“3y—T) = (x+2)°




REF:
061821aii

11
ANS:
1

In vertex form, the parabola is [image: image125.png]7ﬁ(x+4)2+3




.  The vertex is [image: image126.png]


 and [image: image127.png]


.  [image: image128.png]



REF:
011816aii

12
ANS:
1

The vertical distance from the directrix to the vertex, p, is 2.  The vertical distance from the vertex to the focus must also be 2.
REF:
062213aii

13
ANS:
4

The vertex is [image: image129.png]


 and [image: image130.png]


.  [image: image131.png]



REF:
081823aii

14
ANS:


[image: image132.png]


  The vertex of the parabola is [image: image133.png]


.  The x-coordinate of the focus and the vertex is the same.  Since the distance from the vertex to the directrix is 3, the distance from the vertex to the focus is 3, so the y-coordinate of the focus is 0.  The coordinates of the focus are [image: image134.png]


.
REF:
061630aii

15
ANS:


p is the distance from the focus to the vertex:  [image: image135.png]


.  p is the distance from the directrix to the vertex:  [image: image136.png]


.  [image: image137.png]



REF:
082330aii

16
ANS:


[image: image138.png]


  vertex [image: image139.png]


, focus [image: image140.png]


, [image: image141.png]


, directrix [image: image142.png]6+5=11





REF:
012028aii

17
ANS:


[image: image143.png]ﬁ(xﬂ)kz




  [image: image144.png]


  [image: image145.png]


.  The vertex is [image: image146.png]


 and [image: image147.png]


.
REF:
061935aii

